/rh—2:r::

5 L2
1BFR (Limits)

Hif
2.1 BRATEE . . . . o e e e e e e e 15
2.2 B, EEREIEBEEESHER .. ... .. 16
2.3 B RAIED .« .« v v e e e e e e e e e e e e e e e e e e 17
2.4 MERAIMEE . . . e e e e e e e e e e e e e e e 18
2.5 AR .« o e e e e e e e e e e e e e e e e e e e e e e e e 22
2.6 EBEME ... . e e e e e e e e e e e e 23
2.7 R EERE . . s e e e e e e e e e e e 25

2.1 HREEER

(oS
EE 2.1.1. y = f(2) & v € [v1, 7] EHIFEEZE (average rate of change) £ £ =
flz2)—f(z1) f(ﬂf1+’lll)—f($) h=xy— 2,

Tro—I1 ) °

Bl 2.1.2. —FEERIE 450 ARBEH CN & EHT,

(1) RELERN 5 BT,

(2) KEER 5 BEE 6 MENTIHRE,

(3) RELESE 5 BHIHEE,

Bl 2.1.3. FEmiRR v = 22 €2 P(1,1) ZYHRIRIE,

R
Bl 2.1.4. (1) B85 f(x) = 2250 78 & — —2 FHEATR.

0 ift<0;

ENET — TR TR,
| it >0, RIERAE t = 0 MFEERITTR

(2) Heaviside RE{EERR H(t) = {

15



# 28 R 2.2 B FEHRECHRR K ESE R

? x#1

a0 ={ 7 17}

(¢) h(z) =2+ 1,

M EZHEIE - = 1 fHERTR.
2] MBI o RBREETE o AEUESRE,

EE 2.1.5. (HH) lim f(z) = L #o7: % o RIBE o W, (o) RIGE L; MABESEE, it
B S8, RIVE f(2) 7 « = o WER (limit) B L

3] x REEE o TR o FRRARIRGARSEL o, Hx#ao
Bl 2.1.6. FIERAE © = 0 KIHMR:

@ 0 ={ 7 250
a0 ={g 170
CRCE P

[BRE] 2.1.7. If a rock is thrown upward on the planet Mars with a velocity of 10 m/s, its
height in meters ¢ seconds later is given by y = 10t — 1.86¢2.

(a) Find the average velocity over the given finite intervals.
(i) [1,2] , (i) [1,1.5] , (iii) [1,1.1] , (iv) [1,1.01] , (v) [1,1.001] .

(b) Estimate the instantaneous velocity when ¢ = 1.

2.2 B TEIRE 2 MR K 55 iR
(—) EEAIRBPR (One-Sided Limits)

Bl 2.2.1. (1) g(z) :{ gf; iiij K lim (),

(2) & fx)=vV4—22 3K lim f(z), xlfii f(z) & lim f(x).

r——27F T—2~
Bl 2.2.2. KRR

(1) Timal,

(2) lim =

a—0 T’
(3) Illgl_i_ ijv xllgl_ ijv il_rglr \_xJ°

EE 2.23. lim f(z) =L & lim fz)=L H lim f(x)=L,

r—a Tr—a T—a
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# 28 R 2.3 HRATE R

Bl 2.2.4. lim|z — |z — 1], n € Zo

(Z) WEEMBPR (Infinite Limits)
Bl 2.2.5. K lim 1, lim I, lim =%,

z—0F z—0~ z—0
1 £ 13 z—3 : z—3 : r—1
Bl 2.2.6. K hm+ o im0 lim 5=,
x—2 z—2 x—2

B i, (8—2)? : x—2
1§u 2.2.7. Zk ili% 224 ) xligl-k 22_4°

Bl 2.2.8. K lim tanz, lim tana.

™ ™+
x—>2 x—>2

Bl 2.2.9. 3k lim Inzx .

xz—0t
(=) EEPRZAVER (Limits at infinite)

5l 2.2.10. i lim 5, lim =5, lim 2% lim 2®, lim =5, lim =%, lim 2% lim 2%
r—00

T— 00 T—00 T— 00 T——00 x T——00 T——00 r——00

Bl 2.2.11. #EEEH v = (z —2)4(x +1)3(x — 1) WEF.

f5l 2.2.12. KR lim tan~'z, lim tan"'z, lim arctan(-5).

T—00 T——00 r—2+t
B 2.2.13. KMR: lim e®, lim e'/* lim €%
T—00 x—0— T——00

[EBRE] 2.2.14. Determine the values of a for which lim f(z) exists.

r—a

142 z< -1
flx) =< 2? —-1<z<1
2—z x>1.

[BRE| 2.2.15. Sketch the graph of an example of a function f that satisfies the conditions
lim f(x) =2, lim f(r) =0, lim f(x) =3, T f(z) =0, f(0) =2, /(4) = 1

z—0~
[EBRE] 2.2.16. Sketch the graph of an example of a function f that satisfies the conditions.
li%’l_ flx) = 4, 1ir(l]l+ flz) = 2, herLl— flz) = —o0, liri1+ f(z) = oo, lim f(z) = —o0,

Tim f(x) =3, f{0) = 3.

2.3 1BFRHYE Z (Definitions of Limit)

EE2.3.1. 9 f(o) FEE 2= WE—FEMEEER. HVe > 0,30 > 0FHF0< |[z—a| <
0= |f(z) — L| <e, ABE f(a)fE v BOER o FRAERE L, IR lim f(x)=1L,

Bl 2.3.2. FEHH lir%(élx —5)="1,

E& 2.3.3. (1) Ve > 0,IM B 2 > M = |f(z) — L| < e, BIfE = B5E oo B, f(x) RURGIR

£ L, iif lim f(x) = Lo

(2) Ve > 0,3IM B 2 < M = |f(x) — L| < ¢, BIfE x #L —oco B, f(z) BBRE L, 55
lim f(z) = Lo
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# 28 R 2.4 HREEE

f5l 2.3.4. #H (a) lim 1 =0, (b) lim =0,

r—00 r——00

& 2.35. (1) BVB>0,030>0,FR0<|z—a|<d= f(zx) > B, BRIE =z 8 a
K, f(r) RBRBERK, 3IH OISILI}l f(z) = oo,

(2) BEVYB <0, B3>0 FHB0<|z—al <d= f(z) < B, BBE « 8F o &, f(z) &
IREBBMEREAX, LR glclgi f(z) = —o0o

5 2.3.6. A lin&# = 00,

2.4 WREYEE

7Y RIS S A R
EE 2.4.1. % lim f(x) =L H limg(z) = M, H

r—a r—a

(1) limc=¢, limz = a,

r—a r—a

(2) imkf(x) = kL,

r—a

(3) lim(f(x) £ g(a) = L= M ,

r—a

(4) tim f(a)g(x) = LM,

r—a

(5) lim {9 = L 3= 0 £ 0,

s—a 9(@) T

(6) lim f(x)*=L*aecQ,L>0,

3] REMIRIE L, M #1E, EHES " BARR" Kk "fERREIHRIR BT,
WU 2.4.2. (1) % p(gj) = an.Tn + an_lxn—l R anz + ao, E\U ilir(llp(x) _ p(a) )
(2) % 0O BAER, B Q(a) #0, {1 lim 22 = 2@

Q@) ~ Qa) °
Bl 2.4.3. K lim /=F2=L
T——2 z

B 2.4.4. RKMRR:

: 5x248x—3 : 52248x—3
(1) lim =557, lim 55575

r—00

) hm 1lz+1 hm 11x+1
( ) o 23:3—17x*>700 2¢3—1 °

T——00

: 3zt —x—2 : 3zt—x—2
(3) lim rzaw T R L e s

: 323 —z—2 : 3x3—z—2
(4) lim 5x2+4x+17x1_1>1’_noo 522 tdat1 °

=W
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# 28 R 2.4 HREEE

EE 2.45. (1) % c € (a,0)0 & f(x) < g(v),Vr € [a,b],x # ¢, BUTEBESELE, A
lim f(z) < lim g(x).

(2) [ZHHREH, KEBEH (Sandwich Theorem, Squeeze Theorem)] # g(z) < f(z) <
h(z),Vx € [a,b],x # ¢, B lim g(z) = lim h(z) = L, B lim f(z) = L.

EHE 2.4.6. F f(2) £ v = a MRERAER, H lim g(x) = 0, A lim (fg)(z) = 0,

r—a

Bl 2.4.7. (1) # lim |f(z)] =0, Bl lim f(z) =0,

(2) lim f(z) = L  lim |f(z)| = || &L

r—a

Bl 2.4.8. limsind, limcos@ .
0—0 0—0

Bl 2.4.9. KMEGR:

(1) lim sinz,

r—00

(2) lim sin 1,

(3) lim =2z,
= AHBHIBR
RER 2.4.10. lim Sn — 1 (0 BUSE) .

fl 2.4.11. 3R lim 5228,
9—0

5l 2.4.12. 3K lin%:vcot To

Bl 2.4.13. KMEGRR:

(1) lim sin(6—1)

. sin(6—1
(2) lim %,
0—1 -

. sin(0—1)2
(3) lim =5,

B 2.4.14. RKEEFR:

(1) éli)% cosgfl7

(2) él_r)% C05902—1 .

B 2.4.15. 3K lirr(l)tanxsin %o

Bl 2.4.16. KFHFE:

(1) lim(1 — z) tan 5z,

r—1
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2.4 HREEE

(2) lim secf—tant

s
0—73 2

[BRE] 2.4.17. Find the limit.

: sin 4z
(a) :lcli% sin 6x 7

: sin 0
(C> élil(l) O+tan 6’

(d) lim l—tanx

i — )
1 7w SINXT—COSXT
4

. sin(z—1)
(e) glgliq x2+z—2"

i BIRE
Bl 2.4.18. KFGFR:
(D) lim {5 — 5257

rx—1
1+ Yz—2

27 27

Bl 2.4.19. KFHFR:
(1) lim (Va2 +1—ux),

(2) lim VitaT— V1-22T

z(1—cosx) tan(sinx)’

Y

z—0
(3) lim (Va?+x— Va2 —x),
f5l 2.4.20. (1) % lim “8/lal o

T——00 (/107+ 3/103+ Yz+107
2)  fla) = YL,
R lim f(z) & lim f(2) o

Bl 2.4.21. 4 f(x) = 2=

|| —23°

Kk lim f(z), lim f(z), im f(z), lim f(z),
Bl 2.4.22. (1) 4 f(z) = (3° + 47 + 5%)%,
® lim f(z), lim f(z), lim f(z), lim f(z).
(2) # f(@) = =
K lir(l)q+ f(z), h%l, f(z), lim f(z), lm f(z)o

r——00

MESE, 20



# 28 R 2.4 HREEE

Bl 2.4.23. (a) lim [z + [2+ [2]]],
(b) lim |z + [z + []]]

Bl 2.4.24. 4 f(z) = 12,

xT

K lim f(x), o f(z), lim f(x), T f(z), lim f(z), lim f(o).

r—1—

Bl 2.4.25. 4 f(z) = Ll
K lim f(2), lim flo), lim f), lm f(z), lm f(z), lm f(z), lim f(z).

Bl 2.4.26. (1) fB& lim Vertb=2 — 1 R a,b ZfE

(2) &E& lim (az — V422 +br+1)=3,K a,b ZfE .

r——00

[BRE] 2.4.27. Determine the limit.

(a) xligl_ (m—5)3’

(b) lim In(z% —9),

r—3t

(¢) lim zcscu,

r—2m

: 22228
() xlggﬁ o2 —5a 46"

[ERE] 2.4.28. Determine the limit.

: 2x243x+1
(a) xll,n_ll x2—2x—3 )

(b) lim vAutl=s

u—2 u—2 ’
() lim VAiH—vIt
t—0 t ’
: 1 1
(@) Tim (s — ),
(e) lim —m_%z
h—0 h ’

r—0t

(g) lim vo=2=2,

(h) lim(|z] + [=z]).

[BHE] 2.4.29. Let f(z) = 426

o—2]
() Find (i) Tim f(2), (ii) lim f(z).

(b) Does lin% f(z) exist?
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# 28 R 2.5 WGIHR

[ERE] 2.4.30. Is there a number a such that lim2 W exists? If so, find a and the

value of the limit.
[BRE] 2.4.31. Find the limit, if it exists.

(a) lim ——/—
t—o0 2t2 +3t— 5

(d) lim (x+ va?+ 2x),

r——00

(e) lim (V22 + ax — V2% + bx),

(f) lim o=t

3x 3x
T—00 © +e~

(g) lim (e cosz),

r—00

(h) lim tan™!(Inz).

r—0t

2.5 WHLAR(Asympotes)
B 2.5.0 (1) % lim f() = b3 lim f(x) = b, By =bBH y = f(z) 2 kFhrigh,

(2) & lim f(x) = £oo B lim f(z) = oo, Al 2 = a R y = f(r) ZEAMIL,

(3) H Erj{l |f(x) = (mz+0)| =0, 8l y = ma + b B y = f(x) B##HLAEL (Oblique
Asymptote)s,

it 2.5.2. BHII S Rk akm = xgmoo J@) = fE7E, Bom #£0, R b= im (f ()~

me)o

Bl 2.5.3. KEUT EBHIMTIR:

_ 3x2—2x—2
(1) y= &t
z2—
(2) y= 2$—i ’

(3) flz) =5t

B 2.5.4. KEUT BGBHT B
(1) f(z) =sinl+2.
(2) y=2+122,
[32] WA ] RE B AR A SRR 2 R o
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# 28 R 2.6 EFEN

Bl 2.5.5. 53w vy = tanz K y = sec x BIERIHR,
B 2.5.6. K y =e* K y = Inx KELLH.

[2%8] 2.5.7. Find all asymptotes of y = z2t1

3r—2x2°

[BRE] 2.5.8. Find all the asymptotes of each curves.

(a) y = H5,

3_

(b) ¥ = =505,

V22241
(¢) y= 5=

2.6 SEAEM (continuity)
T

EE 2.6.1. K y = f(r) MEMTERME: () flo) BEH. (1) lim flo) F4E (i)
lim f(z) = f(a) , AIRB f(x) 7£% o 25,

i 2.6.2. (1) f(z) 7 v = o E, FHHMEE lim f(x) = f(lim x).

(2) “EE —REMEEE.
i 2.6.3. EBEELTRE, WE

(1) THMTRE4 (removable discontinuity), AIEFER f(x) FEEERZE, UEERIEZ
TEEN,

(2) $kEpHEFREE (jump discontinuity),
(3) &M 74 (infinite discontinuity),
(4) & F24E (oscilating discontinuity)s
51 2.6.4. DU B BAEMRLL RN EAE?

2

(1) flz) =252,

if © # 0;
if £ =0,
{ _2 if x # 2;

1 if v = 2,

L
x2
1

(4) f(z) = ],

EE 2.6.5. (1 f(x) e~ I EF—BEE, e A I L&,

) &
(2) & f(x) EEERB LE—EEE, ABES24 R (continuous function) .
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# 28 R 2.6 EFEN

T AISE R A A

T 2.6.6. (1) # fR gl o=aBHl 8 f+9,f—g,f g.kf, "L (# gla) #0) ¥1E
r = a HEif,

(2) # fAEa=aH gt fla) B, Bl go f 7 x = a .

B 2.6.7. % g(x) 1« = b EEE lim f(2) = b, B lim g(/(x)) = g(lim f(2)) = g(b).
I 2.6.8. (1) HEAWY, FERY, RARNMHISEETL,

(2) SAEY, K= AR S EmE.

(3) fREUNE, HEHBIREEKEL
BIE
5l 2.6.9. Zkhmsm 1(

r+1 ifz<a;

Bl 2.6.10. # f(z :{ - K a HEHEE,
1 2eq S
Bl 2.6.11. % _{ TSo M fa) R,

MZﬁjzm%f@%:{i i;%’f@)EW%%EE?

Bl 2.6.13. K ¢ ZEHER f(r) REAEERS, L

cx’ +2x FHa <2,
o) = {

w—cx EH2<zx,

Bl 2.6.14. 4 f(z) = |z| + [—z].
(a) HWFL a, lim f(x) FHE?

(b) 7EWRLLES f(z) FEE?

z+1 <1
[BRE] 2.6.15. Find the numbers at which f(z) = ¢ = 1 <z <3 is discontin-
V=3 x2>3,

uous.

x2—4

— T <2
[EBRE] 2.6.16. Find the values of a and b that make f(x) =< azx? —bzr+3 2<zx<3
2v —a+b r >3,

continuous everywhere.

[BRE] 2.6.17. Which of the following functions f has a removable discontinuities at a?
(a) flo) =25 a=1;
3 2

(b) flz) =252, a=2;
(¢) f(x) = |sinz], a=m.
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# 28 R 2.7 HREEE

2.7 HREEEHE (Intermediate Value Theorem)
I 2.7.1. (MEMEEHE) £y — f(r) 7 [o,b] FEE B f(a) B £(b) ME—BOSTRE,
BISHERAR f(a) B f(b) 2B d, BHLE c € [a,0], B8 f(c) = do

W 2.7.2. (BMREHE) & f(2v) 1 [a,b] 1&EE, B f(a) & f(b) £, BIFE c € (a,b), #5
f(e) =0,
2. (1) B EERE, PREEESRERL

Bl 4 f(2) :{ T jjiiﬁl BES £(—2) <0, f(1) > 0, 8 f(z) = 0 AL,

(2) PiEEE RAREROEE, ROBEHEETERERS

1
Bl 45 f(z) = { O TP - EEERSE o BE () -

Bl 2.7.3. BIFHERA 42° — 622+ 32 -2 =07 1,2 2HE#E
Bl 2.7.4. FERLEXAEADLEER,
Bl 2.7.5. FAFRAR v = 23 8 y = 32 + 1 LHER,

Bl 2.7.6. (BEEEHE) 4 f(v) B [0,1] HEZF [0,1] HEERE, ALEE c € [0,1], 5
fle)=co

Bl 2.7.7. PEEEREER K, %E@Eﬁﬁ?ﬁﬂ’]@ff??mf K o, QRS (convex set) o
BHAHEAE—ER L k—NES K, EULFEE—GRE L FT2ERE K EE =%,
[2878] 2.7.8. Show that there is a root of the equation sinz = x? — z in the interval (1,2)

[BRE] 2.7.9. A Tibetan monk leaves the monastery at 7:00 AM and takes his usual path
to the top of the mountain, arriving at 7:00 PM. The following morning, he starts at 7:00
AM at the top and takes the same path back, arriving at the monastery at 7:00 PM.
Show that there is a point on the path that the monk will cross at exactly the same time
of day on both days.
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